78 P2 060708 . 4
2 [ rseist”
&= yJ) }940077’.19 4 = V4 ne
£ A7¢°29° 15" ﬁ%
m= ~9%¥Fas‘aalks’ x4
26 | o %olos u | g4/l 2
" o Wi arples’arl N ;é
SE L (g 135 oS
£ pelfay we <7-%
A% 9453 21,87
Ezala, = 1% a9 242" (2p)
(o ST T | gF = | soss|¢7”
Mol Qisr ro| 728 Z |lI1s185. 0¢”
e disr 7o | /84 =| 38&0p. 3¢’
Hor Pisz 7o| &€ = | 1oz, 287
z @ &F , 2
(729?\, ¥a) %0909/ PESRVE ;.h,
] £ 1 Tay 47 9
() ) 17841 14 " s a
3 s v¥ N
£ 35790 ‘0a”’ I%
L W m= 172" op 10 47 \§
L T 20105897 | a4’
Bt £ 27010520
ugf,%) 4! ,Lu_" 26’ gzl 39 L
£ & 06’ 31"
' = 726 o1” ekl
Fwdr= 1280 o1’ 1o ¥
toe DisT 7o |T(p= $%a.13’
tpie DisT o | HE) = laoss, 4yl




